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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper is divided into two parts — Part A and Part B.

(iti) Part A is compulsory for all candidates.

(iv) Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

(v) Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
(vi) Questions no. 17 to 20, 31 and 32 carry 3 marks each.
(vii) Questions no. 21, 22 and 33 carry 4 marks each.

(viii) Questions no. 23 to 26 and 34 carry 6 marks each.

(ix)  There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A
(Accounting for Partnership Firms and Companies)
Read the following hypothetical situation and answer questions number
1 and 2 on the basis of the given information :
Kavita, Savita and Madhu were partners in a firm with capitals of
T 6,00,000, ¥ 4,00,000 and T 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :
Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be
less than ¥ 1,00,000 in any year.
The profit for the year ending 315 March, 2022 amounted to ¥ 3,00,000

before providing interest on capital.

67/1/2 ~~~ Page 3 P.T.O.



67/1/2

®H o Pl AT I TR T T T THEISH L S I9=Tq drgiei J faafoa
B2 ST

(a) higdl T 60,000, FladT T 40,000 TAT 7Y T 20,000

(b)  IIAT T 50,000, Gl T 1,00,000 TAT TEY T 30,000

(c)  hiadl T 60,000, FidT T 90,000 AT 7Y T 30,000

(d) faar T 60,000, Ffa@r T 1,00,000 92T 7Y T 20,000

glerdar 1 AT T 91T TR <h UisT 9 kA o
(a) ¥ 40,000 () T 70,000
(¢) T 20,000 (d T 10,000

ST AT ST Th BH H HHGR & AT 2: 1% A H AWl 1 fadsH

@ | e o # % T % fu W A A R T | sted 3 e

9T T % T Aferar | qen % T SO | ot | e, STmT qen o1ed

T AT AT SAaTd B
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 (d) 4:2:3

foeh1 farfiee 9 T 100 9% =1 o 379, T8 20% Hiftem 9w frffad foran mn
oT, T 30 Ui 3191 hl T AM=A1 AT T 10 Ufd 31 hi SAfqH AT 1 PTAH
B W, W R T | =Ead qod S8 W 39 o ol qAfEa foRan S
GohdT 2 :

(a) T 40 b) T 60

() T 20 (d T 100

F AT @ T HBH H HEIGR & T 7 : 1% I § -5 I a9+
d | ® Fd IAH fqHE o IRY H T 12,000 hl Uk Ffvea wfyr 1 1wt
fopa | TR0 W 6% a1 & W &S 9T foham SITaT 8 | 99 o 37d | 3Me
WIS Y9G i skl Tstre=n gfafse g .

(a)  SAEIUT 9L TSI WIdl 4™ < 1,800

%’ T Yol @Il T 1,800
(b)  3TEOT Y & Grdl T 1,800

%’ 1 =Te] @Il T 1,800
(c) & 1 YNt @IaT A Z 1,800

TR0 Y &S @Il T 1,800
(@ Y- fafase @ ™ 1,800

TR W S @Il T 1,800
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The total profits of the firm after adjustment of guaranteed amount will

be distributed between the partners as : 1
(a) Kavita ¥ 60,000, Savita ¥ 40,000 and Madhu T 20,000

(b) Kavita ¥ 50,000, Savita ¥ 1,00,000 and Madhu ¥ 30,000

(c) Kavita ¥ 60,000, Savita ¥ 90,000 and Madhu T 30,000

(d)  Kavita ¥ 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

Savita’s share of profit is short of the guaranteed amount by : 1
(a) ¥ 40,000 (b) ¥ 70,000
(c) T 20,000 (d) ¥ 10,000

Akshita and Anurag are partners in a firm sharing profits in the ratio of

2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires g of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be : 1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 d 4:2:3

Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per

share. The minimum price at which this share can be reissued is : 1
(a) T 40 (b) < 60
(c) T 20 (d < 100

‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7: 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each

quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a)  Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. < 1,800
To A’s Current A/c < 1,800
(c) A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800

~~~~ Page 5 P.T.O.
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(i) O, R AT AR Th BH § FIHER & qAT 4 : 3 : 1 UG H ATH-FIH I
o a9 | 1 faey, 2022 61 @ H A 7 T | AR gy H
fafor =t w0 & ot Sk TUET T 80,000 T TS | W o ATH o W
H‘H‘@ﬁﬁmm:

(a) ATY-BIH ©Td o 91 & § T 40,000 <hl G hieh |

(b) WH-EIH TS @Td % 99 9@ § T 40,000 T GAHT Hh |
(¢) WATH-BIH 3°fd @id @ 9 & § T 80,000 <hl Gl Thieh |

(d) Y-8 39fd @Td o 9™ 98 § T 40,000 hi G e |

AT

(i) oo, a1 9o AfaT T BH H @R o4 q°1 3:2:1 % UM H
ATH-ET 1 TIWTSH d o | I JaTHad 81 T8 3TR 381 W Hfiar qen
AT g seR-ateR form | far dun stfar w1 T A fawsE

ST B :
(a) 2:1
(b) 7:5
(c) 1:1
d 3:2

FHe (A) - ARG Ueh 3d afEfe R |

HRU(R) : wfa wiosy # smferd ogwoer et & 2Afdafies et el %
Trey H Tk %H shi JfdssT 1 97 B |

fafafaa 7 9 9t fawew =1 =94 AT

(a) SAYFA (A) W B, T HW (R) ToAd & |
(b)  ANTHA (A) Ted 7, W] HRU (R) HE 3 |
(c)  3HheE (A) AT HRO (R) THI &I 7 |

(d)  IHI (A) 9T FHROT (R) SHI Tdd & |
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(1) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15t September, 2022. On the date of
P’s death, the profits of the firm were calculated as ¥ 80,000. P’s

share of profit will be adjusted by :
(a)  Debiting Profit and Loss Account with ¥ 40,000.
(b)  Debiting Profit and Loss Appropriation Account by < 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with I 40,000.
OR
(i1))  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita
and Anita will be :
(a) 2:1
(b) 7:5
(c) 1:1
d 3:2
Assertion (A) : Goodwill is a intangible asset.
Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits. 1

Select the correct answer from the following :

(a)  Assertion (A) is correct, but Reason (R) is wrong.

(b)  Assertion (A) is wrong, but Reason (R) is correct.

(¢) Both Assertion (A) and Reason (R) are correct.

(d)  Both Assertion (A) and Reason (R) are wrong.

~~~~ Page 7 P.T.O.
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®H o faaed o gwy fefafgd § 9 ford a¥e @ | geamaia fhar sam? - 1
(1)  afqg F o T TEgH

(i)  ETer 1 R0
(i) 9™ 9=
(v) IIfd

(@) (1) 3N (v)

(b) (D), (i) dAT (iv)

(c) (1), (iil) 99T (iv)

(d) (@), Q1) q9T (1id)

A, Toremel 9uT 3111 Ush B H HTSIER & U7 2: 3 : 1% 3TJUId H ATl o
fawsH & g | foRe SaTgd 81 T aUT =i gedl STevde quTieH,
Rl < GAHeTeh § CIAIaTi o GHAMHENUT o 99ETd 3Heh Yoil @Id 1 3T
T 1,20,000 ? | TCfId aUT SR 3G € b qUi feH | 3| T 1,80,000 B
WA & o T wgaa &1 1Y | fasme &t garein W= wH i @i § 36!

HIT % : 1
(a) < 1,20,000 (b) T 60,000
(¢) < 30,000 (d) T 15,000

(i) ol fafes 9 T 4,70,000 1 g TREHRT o T Hed & §ed

T 5,00,000 % qUT Y& 37T 1 fEE fRT | = 30,000 % =9 i G
o & T < St | 1
(a) T, A9 9
(b) IS F==, AW 9
(c)  YSIl |=, SHT 9&
(d) HMEFT 999, SHT 98
T

i) o fafes 4 gya fafiee &t T 12,00,000 1 afEeafai qen
T 4,00,000 T FATRAT HI T 9,00,000 % HT eI T AR B H
Tgafd & | eI I PTAE T 100 T&H & 11% FOEAT 1 10% o5 T

i seeep e o | feifia foru w sroTast <61 = gl 1
@ 9,000 (b) 10,000
(c) 8,000 (d) 11,000

~~~~ Page 8



8. Which of the following will be transferred to Realisation Account at the

time of dissolution of firm ? 1
(1) Provision for Doubtful Debts

(ii)  Partners’ Loan

(iii) General Reserve

(iv)  Goodwill

(a) (1) and (iv)

(b) (1), (i1) and (iv)
(¢c) (1), (iii) and (iv)
(d) (1), (11) and (iii)

9. Gurpreet, Vishal and Ananya are partners in a firm sharing profits in the
ratio of 2 : 3 : 1. Vishal retires and the balance in his capital account after

making necessary adjustments on account of reserves, revaluation of
assets and re-assessment of liabilities is ¥ 1,20,000. Gurpreet and

Ananya agreed to pay him ¥ 1,80,000 in full settlement of his claim.

Vishal’s share of goodwill of the firm, on his retirement is : 1
(a) ¥ 1,20,000 (b) ¥ 60,000
(c) T 30,000 (d) < 15,000

10. (1) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of T 4,70,000. The balance of T 30,000
will be to account. 1

(a) debited, Goodwill
(b)  debited, Capital Reserve
(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(i1) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
< 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be : 1
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

67/1/2 ~~~ Page 9 P.T.O.



11. @A) ﬁ%ﬁ%ﬁé@ﬁ%mom%zooog%a{mﬂsﬁwﬁm%%uﬁ
OIS R TR | 9% RUT9T @Td o STHT 98T | Wil bl ST .

(a) = 1,90,000 (b) = 1,10,000
)  2,00,000 (@ = 10,000
AT

i) Trfaiad @ @ S F9F FGT B2
(a) RO SIS Ueh YR 3, fai==iee &l |
(b) OIS i oz W fFifea forem S Tepar 2 |
(c) SRUTYALTRET bl & < oht Tferehr & 7 |
(d) OISl i A A yfafda T& T < wehan |

12.  w1faa gt o1 98 wm @ swenfet & areda o g e foren e 7, e B

(a)  S&d Yoit
(b) e Sl
(c)  gfa i
(d)  FfireT g

13. () &0 Qo1 91 U ®H § WiEieR 7 | 31 97, 2022 %I G §¢ 99 9,
T 3 T HE % T H T 10,000 Ufd HIE 1 R TR B |
T W A 6% aTNeh ot H GRS foham STHT o |

31 AT, 2022 %! FAT gL Y H 1 3 IR W AT A

(a) ¥ 3,900 (b) T 325
¢ T 3,600 @ T 3,300
HAAAT

(i)  foqwr dom e w wH § e @ | 31 We, 2022 i WIS g 9Y H
3R 4 T fqamdl o 3= T T 1,000 T TR0 fohal B | AR W

I bl UM T 3itEa stafy B
(@) 6V (b) 4%‘41_6'
1 1

67/1/2 ~~~ Page 10
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11. (1) Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at T 95

per debenture. 9% Debentures account will be credited by : 1
(a) ¥ 1,90,000 (b) ¥ 1,10,000
(c) < 2,00,000 (d) ¥ 10,000
OR
(ii)  Which of the following statements is incorrect ? 1

(a) Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.
(c) Debentureholders do not have voting rights.

(d) Debentures cannot be converted into shares.

12. That portion of the called-up capital which has been actually received
from the shareholders is called : 1
(a)  Paid-up capital
(b)  Called-up capital
(c) Reserve capital
(d)  Subscribed capital

13. (1) Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000
per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per
annum.

Interest on Neena’s drawings for the year ended 315t March, 2022

will be : 1
(a) ¥ 3,900 (b) % 325
(c) T 3,600 (d T 3,300

OR

(i1)  Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.

Interest on drawings will be calculated for an average period of : 1
(a) 6 months (b) 4% months

1 1
(c) 7 3 months (d) 65 months

67/1/2 ~~~ Page 11 P.T.O.
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i) TH S 9 T 10 T¥b & 400 ;M 1, o9 |W T 8 Ui 3131 Fnfa
fore o o, = 2 ufq 319 61 Yem ArEET URT T PTAE T i T FO
H T | 39 ST o Ol W OST YSi @Id o AW 9 § @dr
GlTQ"ﬁ:

(a) T4,000 (b) < 800
(c) T 3,200 (d ¥ 2,000
AT

i) Ulewa fafies 7 T 10 9% & 700 W & =2 10% Hftrm
it fopem mom o, = 5 wfa et (Nftrm wfgq) H emee iy qen
T 3 9fd 3T 6l YoM Td AfGH Jr=ET URT 1 PTAE 7 i T FO H
T | 39 310 o LT W 379 LT Wi’ o ST 9 § @l <hl et
(a) T 7,000 (b) T 1,400
(¢) T 4,900 @ <2100

T AN =HT TH BH H EECR § | W 4 1 JA1s, 2021 I BH H
T 6,00,000 T kU7 {3 | ITRT I T Toi@ &1 AT | 31 ATE, 2022 i

YT 0T W e arel = <hY 91 Tt o1 Eehe o

(a) < 36,000 (b) < 18,000

© T 9,000 d T 27,000

3T, YR qAT ATIATY TSGR & T 3:2: 1 AU H ol 1 foas=
HA 9 | 1 JAms, 2022 H AN BH G FATHE & T | ST hH
TarHgfa 6t fafy w feufa faawo amwgv @ % 9@ 95 § T 1,20,000

U el @ oAr | IfeHrsr w1 e" iy h AT R 9HT 39 Y R gEATall
fopan s

(a)  3THA QAT STYR o YSit @Al o AH 98 H YU ATH-[THSH ST H |

(b) A, YR AT AT < Y @Al o AW 9§ § U Ard-faumeH
U H |

(c) T qUT YR o Yot WAl < ST 981 H ¢ AH-fwTs= g # |

(d) 3T qAT STYR o Y51t @Il o ST &1 H 3k IAH I H |
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14. (1) A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of

these shares, ‘Share Capital’ account will be debited with : 1
(a) ¥ 4,000 (b) ¥ 800
(c) T 3,200 (d ¥ 2,000

OR

(i1))  Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of ¥ 5 per share
(including premium) and first and final call of ¥ 3 per share. On
forfeiture of these shares, ‘Share Forfeiture Account’ will be

credited with : 1
(a) T 7,000 (b) T 1,400
(c) T 4,900 (d) T 2,100

15. Aman and Chaman are partners in a firm. On 15t July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.

On 315t March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) T 36,000 (b) < 18,000
(¢) < 9,000 (d) T 27,000

16. Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the

date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount

payable to Avinash, this balance will be transferred : 1

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b)  To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d) To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

67/1/2 ~~~ Page 13 P.T.O.
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HE, T TU7T 370 Teh BH | A1RER o 991 2:2: 1 o 37U H 19-gTH
ot a9 | 1 3799, 2022 1 FHT HaTHED & T8 | AR, ST qe
qiad Al 3G Fael 9l FHRISHT i S o I9ETd AFE adT 3T o gt
@Tdi § ShAS: T 2,50,000 9T T 2,00,000 T ST Y o1 | I8 ol fomm m
5 ol qen IR A S B I AU A9-faveH U § guritea T
S |

AT RN AW AT JMENT hid sl T UsimH=n Jiafsear i |
3 HR I T Y F T |

M, FUY, THT YT HI=AT Th BH H WIHCER U qAT 4 : 3 : 2 : 1% FI H
ATY-BTH o1 Ta9ToH td 9 | 1 310, 2022 § 384 AW Bl 5:2:2: 1
3qa § fawiiva e o1 Tl o= | 59 fafy 61 w0 i @id &1 geameed
T 6,00,000 TR T AT Y&l B T €EF T 2,00,000 € TET AT |

3T el o foTu. steves Tem=n gfafseat e | 31 &R &1 s €9
T T3 |

(%) 131, 2022 Tl AT TAT 7Y i B i ISt T 1,50,000 7 | i@
ISt X JI™ Sl AT X 10% 8 | BH % 3Ed @w T 23,500 7 |
AT o i I o T b AU W B hl TA(( 6l 0T I |

HAAAT

(@) &ra qen dfcieh T H H ATHCR 8 q1 4: 1 % TId H ATH-8TH
faurem 8 | 1 31|, 2021 I A IS AN T 1,20,000 qAT
T 80,000 off | 1 fegrer, 2021 @I I Foig fon o6 & 6t a1 g
T 3,00,000 gt o fow 396 g0 2:1 & 3ru@ ® AngH fea
ST |
TR W@ & 3TER, TSI Sl 6% TN X & Yot | =t fea
ST |
31 9T, 2022 ! THTE g 9t a9 # §oft W for I= et s <y worn
1T |
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17. Mansi, Mona and Amar were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. Mona retired on 15t April, 2022. After making all
adjustments relating to revaluation, goodwill and accumulated profits

etc., the capital accounts of Mansi and Amar showed credit balance of
T 2,560,000 and ¥ 2,00,000 respectively. It was decided to adjust the

capitals of Mansi and Amar in their new profit sharing ratio.

Pass necessary journal entries for bringing in or withdrawal of the
necessary amounts involved. Show your working clearly. 3

18. Isha, Surbhi, Naman and Manya were partners in a firm sharing profits
and losses in the ratio of 4 : 3 : 2 : 1. They decided to share profits and

losses in the ratio of 5 : 2 : 2 : 1 with effect from 15t April, 2022. On this
date, the goodwill of the firm was valued at ¥ 6,00,000 and General

Reserve appeared in the books at ¥ 2,00,000.

Pass necessary journal entries for the above transactions. Show your
workings clearly. 3

19. (a) On 18t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the

firm based on three years purchase of super profits. 3

OR

(b)  Rakshit and Malik are partners in a firm sharing profits and losses
in the ratio of 4 : 1. On 1S' April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

According to the partnership deed, interest on capital is allowed to

the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022. 3
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(%)

(@)

T fafiee 3 T 10 9= % 1,00,000 M B 10% HfRE W
Afiem & forw sHar < frifia T | oeget oft smaeT w 2 ot |
3,00,000 37 % T TG TH FC qoA A€ A Forg foren fom et
STRYTIT hl ST TR T I T AT L AT I |

g fafteg &1 geasl O Iug® oedl o o oTawsss UeHHE
gferfsear Shifsw |

HAAAT

wad fafiees 3 @l fafies ft T 60,00,000 H wfEmfa=t qon
T 10,00,000 i AT T 45,00,000 % T oI T T hl TEAM & |
TR 1 PTaE T 100 IAH & 10% RO Sl 25% Hiftem w Frifaa

hlch foRaT ST 2T |

Sed fafiee i geashl § ST oAl o fag STEweh  UeHmHEHl
gfafsear Hifse |

A fafies &1 atfasa 95 T 20,00,000 8 ST T 10 SR o FHAT 90 H
fawfsa & | 9 3 90,000 311 1 FHifta 9 & fow stmaes AmtE fou |
88,000 3= % foTu 3megd YW 3T | |l AAN HM ol TE qAT had
4,000 3P W T 3 fd 379 K Y¥q w9 Ifqw IrET TR w5 Siew g iy
ITH &1 TS | 39 3730 T 807 L T T |

Sl UM, 2013 H ST III, 9F I o AR HuAl & &I
foaTor # “ormr 4&f I g@IiSy |

3 % [T @i & g Hl IR AT |

~~~~ Page 16



21.

67/1/2

(a)

(b)

Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the

books of Annex Ltd.

OR

Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase
consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of ¥ 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited.

Madhur Ltd. has an authorised capital of ¥ 20,00,000 divided into equity

shares of ¥ 10 each. The company invited applications for issuing

90,000 shares. Applications for 88,000 shares were received. All calls

were made and duly received except the first and final call of ¥ 3 per

share on 4,000 shares. These shares were forfeited.

(a)

(b)

Present the ‘Share Capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.

Also prepare ‘Notes to Accounts’ for the same.
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gefi, diueh qoT T Tk HH H WISIGR o q1 2:2: 1% UG H ATH-EI <l
foamem T 9 | 31 7, 2022 vt 3 fEufa foawor 1 yer @ o

31 UT™, 2022 i AR, Eiueh a1 Tat a1 fearta foeron

ISEALS 50,000 | W Td wed 2,10,000
= T 1,00,000 | " 1,90,000
Eal 1,20,000 | ¥Ih 30,000
g fraw 1,70,000
gdi 1,60,000 fosmoA S=fa @ 1,20,000
s 1,50,000
LIkl 1,40,000 | 450,000
7,20,000 7,20,000

30 S, 2022 W GER I g B TS | HBIGR hHI I W AEeH! Tor@ 1 e
T YL o

(i)  H I TN T oA TS IR Iui o 30{d o, st T 1,80,000
%,%2% 5T % 9 % SHR T R ST |

(i) gcg I Ay qoh A9 AT BT § G o WRT hl T0MET Toshd o TR
W ok J@h | 31 7, 2022 1 GAE B a1d 99 d fosea hr ufy
T 4,00,000 oft TAT 1 T, 2022 ¥ 30 I 2022 Tk ToRd ht TR
T 1,50,000 ot | 31 e, 2022 ! FHH BT oW H AW T 1,00,000
o |

(iii) YN W 7% a1 g & =A1 Tz S |
e o TIsa1eeht o1 Gidd o T 3R 950 @ dam i |
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22. Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315 March, 2022 their Balance Sheet
was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022
A t A t
Liabilities T2 Assets e
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement Suspense A/c | 1,20,000
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
Sudhir died on 30t June, 2022. The partnership deed provided for the
following, on the death of a partner :
(1) Goodwill of the firm was to be valued at 2% years purchase of
average profits of the previous four years which were I 1,80,000.
(i1))  Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30t2 June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.
(iii) Interest on capital was to be provided @ 7% p.a.
Prepare Sudhir’s capital account to be rendered to his executors.
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23.  SAMGH TR AT Toh HH § HAHCR 9 AT 3 : 29k AT H ATH-FIH b1 fadTe=
A ¥ | 319, 2022 1 ITh! fefd foawor = g o

31 HT=, 2022 h1 ATIAIT TAT =TT kT Teerfa ferewon

TER 90,000 | S T ks 20,000
Syt ATfeRT 1 0T 30,000 | T 24,000
SIATST T 0T 30,000 | fas 30,000
= g9 45,000 | STER 20,000
tIGﬁ ) Yl :‘éiﬁ"ﬂ EUIiED
' T y@a™ 2,000 18,000
et 1,00,000 L DF 1,00,000
SRIN 97,000 | 1,97,000 | fasmam 3=fa @Tan 2.,00,000
3,92,000 3,92,000

31 9, 2022 i fy=AfcARaa 3rdt W w0 &7 faees &

(i) TR & T 17,000 HT TEA g T TIA B TEdH oI T 10% A
e T |

(i)  ofeer = #fiwdl STfER o U1 Wl YA HL I ATGT (AT qAT F2h i
T 20,000 & for=m |

(iii) ST 9 3y o™ 10% ¥ W o T | 9w femn & € 4,500 1 St
% |

(iv) THFERI &1 YT 10% 2 T T fean = |

(v) S 2 T 7,000 9 |
JH @A TR HIT |
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23. Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as
follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022
A t A t
Liabilities moun Assets moun
< 3T
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals : Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh 97,000 | 1,97,000 | Advertisement Suspense
account 2,00,000
3,92,000 3,92,000
The firm was dissolved on 315t March, 2022 on the following terms :
(1) Debtors realised ¥ 17,000 and plant realised 10% more than the
book value.
(ii)  Aadish promised to pay Mrs. Aadish’s loan and took away stock at
< 20,000.
(iii) Shreyansh took away half of the investments at a discount of 10%.
Remaining investments realised ¥ 4,500.
(iv)  Creditors were paid off at a discount of 10%.
(v)  Expenses of realisation amounted to ¥ 7,000.
Prepare Realisation Account. 6
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()

e offeufaet & omll & &1 @ qEAREA ol STawEsh UsHME]

gfafseat Shifsr -

i) st &t St fAfies 3 T 10 985 & 75 310 @, e T 4 9fd AW
Hiftrm W fifaa fopem o o, ¥ 8 wfa otw (Sfiftem afza) i
AT TR T PIAH 7 HH W, FWOT R o= | T 4 9faq =131 i
g e 3ifad areen it stef) wif 9@ S ot | gor fepu T s
H T 15 Tid T qUi Ted GH: Fifia s feam |

(i) e fafies 3 T 50 Ui 71 % 1,200 390 HI, e T0 oo
X fifia fopam e, € 10 wid o191 1 Afom Fr=AT 1 YA

T W, O R AT | S G 900 I B T 45 gia 37w qui
Yed gA: frifta s feam |
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gsht fIfiee 4 T 100 T & 30,000 M 1 20% Hiftem w frifia
T o U 3teed smta foee | gfd o7w afyt &1 ymam f= yoer &
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e W — T 30 (T 10 Hiftew wfza)

W I W — T 30

g wa sifom == W — 9w
40,000 3191 % fTT TG W gL qAT 35,000 37 o G ohl
TR STTeie T TAT T | 3T TS i 3TEeTeha L feam i |
A W ITed TR GRSt 61 THTEIS ATeed W ¢F Ui ¥ o fean
T |

T, R 700 319t o fofw oTraed fohan o, eed Ui &1 YTaE i
H B TET 3R 3Mee o G I9aTq 4 370 ol g7 o ot TR |
39k 91 YW Jr=ET A TS qAT YUH ITAT W < gt Uiy ured &/
18 | fodia wa Afom I == |t T8 |

gt feafiees 1 geaehl O 3T oFeAl % folu STrawges UstHTH=n

gierfsar HifvT |
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24. (a) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

(1) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of ¥ 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out
of these, 900 shares were reissued at I 45 per share fully
paid-up. 6

OR

(b)  Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30

On second and final call — Balance

Applications were received for 40,000 shares and pro-rata
allotment was made to the applicants for 35,000 shares, the

remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited. 6
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25. (F) Ja qA IR TH BH H AR 4 qAT 3 : 1 % AU H ATH-FIH I
faure a9 | 31 1, 2022 W1 3T feafd faeror i yeew o

31 WTH, 2022 i ga qUT R a1 eurfa feramor

. Tfst et Tfsr
A T T
e 41,000 | 993 U9 HRAG 60,000
A G99 80,000 | Wead 40,000
3ed =9 12,000 | e 60,000
g ieh 50,000

4 79,000 L IALe 38,000

Eitd 48,000 1,27,000 e+ Ffe Fo %

— U g@eg™ 4,000 34,000
Uhs 16,000
2,60,000 2,60,000

1 31, 2022 1 Iy @ A i W % fu e vt woaw e A

vasr fea
(1) I AR YSi qAT 7Y W oh ©ATd A 3 T 4,000 TG
AT |

(i) a1 AT T 68,000 foham T |

(iii) TIF T AR W 10% HeIg™ =T A |
YHEATRA @1 qAT HIBIERI o6 Yol @d dIR HIT |

AT
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(a)

Yuv and Veer were partners in a firm sharing profits and losses in

the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was

as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022

Liabilities AmOunt | 4 csets Amount

Creditors 41,000 | Plant and Machinery 60,000

General Reserve 80,000 | Building 40,000

Outstanding Expenses 12,000 | Investments 60,000

Capitals : Stock 50,000
Yuv 79,000 Debtors 38,000

Veer 48,000 | 1,27,000 | Less : Provision for

Doubtful Debts 4,000 34,000

Cash 16,000

2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

(1)

share of goodwill premium in cash.

(i1)

(iii)

Investments were valued at ¥ 68,000.

Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts.

OR

a2 2o 2o 4
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(@) @, MY qA WA UH B A WEER F 9941 5: 32 2 F IIgu A
Y- o1 fauoH wd 9 | 31 A, 2022 1 31 et faewor

b AT

31 UTH, 2022 Y {TIT, ATIEHTH qeT AT 1 fearfa ferawon

N rrfr e TI'ST
fafay Aqer 2,20,000 | Uhe 1,60,000
M 9= 1,20,000 | TeR 1,80,000
& T : Higy R 5
' foe yregm™ 20,000 1,60,000
foIk 6,00,000 ieh 2,00,000
ITEE  5,00,000 e 6,00,000
Rl 3,00,000 | 14,00,000 | W 4,00,000
Ue-gH 1,20,000
ATH-BT @ 1,00,000
17,40,000 17,40,000

Ih fafdr <l e Sariee & S fe W Henf s

() W9 H FETHgd W BH 6l SN BT AR T 12,00,000 FeRa

AT |
(ii)
crull
(iii)
(iv)
ST |
(v)

Z 40,000 % Teh AR TIER hT @1 fohaT TH=IT |
T 30,000 % CAGRI ohl Gad KU o €I H IHUfcigd U T

IS qYT AT s i w1 fauem 2 : 3 % oAU H

TSN 1 & IS T TEATAW0T 38k k0T @Id | & eI T3 |

BH ! GEdeh] B ITYTH oGl o TU 3TTaweh ToHmH=T Sffear hifdu |
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(b)  Reyansh, Aayushman and Sabhya were partners in a firm sharing
profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at

315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
Less : Provision for
Capitals : Doubtful Debts  20.000 | 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 | 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000

Reyansh retired on the above date and it was agreed that :

(1) Goodwill of the firm on Reyansh’s retirement was valued at

T 12,00,000.

(ii)  Aayushman and Sabhya will share future profits in the ratio
of 2: 3.

(111) An unrecorded creditor of ¥ 40,000 will be taken into
account.

(iv)  Debtors of ¥ 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his
loan amount.

Pass necessary journal entries for the above transactions in the

books of the firm. 6
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R feafies 6t qeaent o fafoaiRaa oieeAl @ fote sworosi & fofoa @ wafea
AT USHHET Tfafseal il

(®) T 100 I % 1,000, 9% FOHHA hl 5% B W FAtHa fopan, e
IME 10% SfoEs 9 fepar Sma |
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M 10% Wi o o Sam |
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fawea - 1
(forsfta feramomt =1 fergeraroT)
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(i)  |Har 37N 1 e

(i) TIERI & I Uhe

(iii)  ZROTIAT T MG
(iv) ARSI & faeg Jram foham o Uehg
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(a @

(b) (1) TdAT (i)

(c) (1) dT (1i1)

(d) (D), 1) dA (iv)

() T focfia 3em g “grram fohem T e’ Uehg Yarg faawr s wm

frfataa o & form niafafy & st=aia e
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(b) T wifafafy
(¢c) forfim nifafafy
(d  GHI (b) T (c)
HAUAT
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Pass necessary journal entries relating to the issue of debentures in the
books of Akash Ltd. for the following transactions : 6

(a) 1,000, 9% Debentures of ¥ 100 each are issued at 5% discount,
redeemable at a premium of 10%.

(b) 500, 7% Debentures of ¥ 100 each are issued at 5% premium,
redeemable at a premium of 10%.

(c) 2,000, 10% Debentures of ¥ 100 each are issued at 5% discount,
redeemable at par.

PART B
OPTION -1
(Analysis of Financial Statements)

Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1
(1) Issue of Equity Shares

(ii))  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables

Choose the correct option :

(a) (@)

(b) () and (ii)

(c) (i) and (iii)

(d (@, (i) and (iv)

(i) ‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (c)

OR
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1)

(i1)

o

Teh 3fediid 3TM g0 e ® yrea a1 Uehg JaTg foawor s a9

feafafaa 5 9 foem nfafafe & st s .
(a) Trawr nfafafy
(b) Toxfta wiafafer

(c) YT Tidfafer
(d) gFI (b) @A (c)

fr=fafaa @ @ 9-a gt @& 2

(a) IO ¥ MW hl AN = TEeH 8 3T + Hehed ATH

(b) TETEH § I i AR = JARTHh Wik — g T + TIH =
— 3ifam i

(¢) TSN § 3 Sl AN = AR T2eh + 30 Wik

(d) TETEE 9 IMH hHl AN = T 8 ANH — Tl oTH

AYAT
Fafafga 4 9 - oy foaon & fovayw 1w Iusu/aden
3
i)  Ushs Yarg foawom

(i) WA foeo
(iii) @Tal = AeH
(iv) el foewm

e fasheq &1 ==[ FifT .
(a) @

(b) ()3 (i)

(c) (i)

d @), () 3R (iv)

(a)
(c)

ffTRed T 9 TaTfHed Hiv 3 -

ITe] THEH T T 20,00,000

ey ittt Z 40,00,000

AREISICAER IS T 25,00,000

ESTHee 31T 25%

Z 10,00,000 (b) ¥ 14,00,000
T 24,00,000 d ¥ 15,00,000
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29. (@)

(i1)

‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise :

(a) Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c)

Which of the following equations is correct :

(a) Cost of Revenue from Operations = Revenue from
Operations + Gross Profit

(b)  Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses — Closing Inventory

(c) Cost of Revenue from Operations = Opening Inventory +
Closing Inventory

(d)  Cost of Revenue from Operations = Revenue from Operations
— Gross Profit

OR
Which of the following is a tool of Analysis of Financial
Statements :
(1) Cash Flow Statement
(i1)  Statement of Profit and Loss
(i11)) Notes to Accounts
(iv) Balance Sheet
Choose the correct option :
(a @
(b) () and (ii)
(c) (1)
(d (@), (i) and (iv)

30. From the following information, the ‘Proprietor’s funds’ are :

(a)
(c)

67/1/2

Current Assets < 20,00,000
Non-Current Assets < 40,00,000

Long Term Borrowings < 25,00,000
Proprietary Ratio 25%

< 10,00,000 (b) T 14,00,000
< 24,00,000 (d < 15,00,000
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32. ‘S9 Ul hl TUHT SHAEM hl AR NUHASHAT HT HAT B 5 fAC
STt 3 1 SAUTAl <l ggeH hife aur 39 Aol § wftrfera € Ul % HEd
I IgQ T | 3

o o

33. (i) TrfciRad =1 9 9hat AW T i TUMET T 4

Theyl (€2ih) CICK AT @ 6 T[T
e heg (¥h) : T 4,00,000
AT s foshl amTa W 25% @19 W i T8

AT

(i) UH HEA HT AL A 2 0 18 | HRU dd g Ieoi@ T o
ffefigd THGHT § 98 31U 9, T AT $9H I3 qNaaq ol sl @ 4

(a) T 40,000 < HTA 1 3T HI
(b) ¥ 2,000 %h B T T 8,000 % HAT=R <hl forshl
() SAMRI ¥ T 15,000 shl Ushg Tfea

d ¥ 6,00,000 % FHAT 7 T FET
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a) Unclaimed Dividend
(b)  Mining Rights

(¢) Loose Tools

‘These ratios are calculated to measure the short-term solvency of the

business.” Identify the ratios and state the significance of two ratios

included in the above category. 3
(i) Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory : < 4,00,000

Goods are sold at a profit of 25% on cost
OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables ¥ 15,000

(d)  Issued equity shares ¥ 6,00,000
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34. fafafiaa sl d@ w1 ufeu d9on SEes Myr W few TU ywEi % I
A
2011 § ¢ JaT WRA ITHAT, d9ITelt Wifean a1 fade wrfean & T Aats
3TTET qIed AN i 1 (U fofam | 36 999 99K | 15 IHE Raare! 781 o
3 I|H 3E HHT I QU D B JTH W@ | I8 Th IUANThdT HAqul
JeHTEe U HIETsd WO 1 T T faeh gra IwammeRdisti o fote srqaem
hieh R QAT MEE 8 T | 2018 H 38 SR soif ffuee’ ol # yiafdd
L T |
31 9T, 2022 i HrHT o Fefaiga feafa foewor @ ‘e nfafafern @ G
TaTg <hl TUET hIFT |
31 W, 2022 ! ‘&R gt forfiee’ =1 feafa feremon
r— :ﬁz 31.3.2022 31.3.2021
g. T T
I — THAT U5 IdT0 :
1.  II9YWh SN
(%) 3w g 9,00,000 3,00,000
(@) U= W@ AT 1 75,000 3,60,000
2. IR A
eehTe | 3UR 2 2.,40,000 1,80,000
3. e A
(%) oAYR 18,000 60,000
(@) A Iaeg™ 3 2,04,000 2,10,000
E3 14,37,000 11,10,000
II - afeErataat :
1. TR=re] ahewafr
TRt gt 4 10,08,000 5,76,000
2. =T aREwEt
(%) ik 3,54,000 3,87,000
(@) Uehs TF Uhs TA 75,000 1,47,000
E3 14,37,000 11,10,000
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Read the following hypothetical text and answer the given questions on

the basis of the same.

In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car

Easy Ltd.” in 2018.

From the following Balance Sheet of the company as on 315* March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
Total 14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
Total 14,37,000 | 11,10,000
~a~
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Qrdi o A1ed :
qre 31.3.2022 | 31.3.2021
g. o T T
1 | 9= Ug 3nfee
YR Afq AY-gTi forawor &1 3w 75,000 3,60,000
75,000 3,60,000
9 | Aelerteliv 3UR
10% o9 2,40,000 1,80,000
2,40,000 1,80,000
3 | TR JEE™
EZ@ICRIE 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
ENEE 11,52,000 6,45,000
gfad qeag (1,44,000) (69,000)
e 10,08,000 5,76,000
STARE G :

1) 10% o9t 1 e 81 |, 2021 i fomam T |
(i) 99 % RME T 80,000 T T YA foha T |

CINRC)
forerew - 11
(stirRfer TrET®)
27. (1) TG qAT AT o TR H A T B oh [T AR AT Iqad Al
3= YA © ST B3 BIdl &, hl 7H 2 :
(a) ﬁ%gﬁlaﬁﬁ ERGE]
(b) T TETh 34

(c) WG I9qT
(d) 3fam @rd 3udA

YT
(i) Y HAfhel hi fFEl ST ATHSl ¥ T F hI AT FHaed! 2 :
(a)  3ffeher Jefiemtur (b)  Hiepgr wlaf®
(c) T AThe (d) Sl AThs
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Notes to Accounts :

Note Particulars 31.3.2022 | 31.3.2021
No. < T
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 | Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

(1)
(i1)

(1)

(i1)

PART B
OPTION - 11

10% Debentures were issued on 315t March, 2021.
Tax of T 80,000 was paid during the year.

(Computerised Accounting)

The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and
expenses is :
(a)  Cash and Bank sub-system
(b)  Expense Accounting sub-system
(c) Costing sub-system
(d)  Final Accounts sub-system

OR
The process of comparing input data with some unknown data is
called :
(a)  Data validation
(c) Information data

a2 2o 2o 4

(b)
(d)
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30.

31.
32.
33.
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o fafi &l & dfaq 3Tl & Tk a) H TG fham Srar 7, o 98
HEATT 8
(a)  dTEdiae GuF TshH0T
(b)  GHZE UshHU
(¢)  3TTehgl Aefierto
(d)  TshHOT Qe A deffeRtu
Teh TRV JTHSATh AT B T TNUMH Hgardl g :
(a) YU/ IAT o (b)  HAHd HI
(c) &Y qed d & g
(i)  HIfShehI i Tavrehal Bidl B :
(a) = SigH St 3cafd & forw |
(b)  @ral, SideeHi, 31fe 1 geferd W = ot |
(c)  3ATehel ol MiUd W (THARASH) & fou |
(d) ATHS & IMEH Ufshaur & T, 3faa fepie @ & fou |
T
(i) & @R el i HEAT 98 HH BIdl @AY HIHeH FHAT S7d
At Bl 8, 3T e & fou fAefdfigd 0 @ iH-a1 Aideasw deha
‘ﬂﬂ?ﬁ@?ﬂ%:
(a) Tafsre
(b) I % AR (ITE)
(c)  aHi forfere wa erd
(d) 9™
w3719, 77,31, 375.Th. (COUNTIF) %o i 90y |
‘T et qen ‘grer 3TheI Yeql hi HHETST |
(F) ‘SAThg! TWEIU FT 8 ? Teh U TN 3Afehe ol TowUd A & fou fopm

IYHIUTT <hT TN fopaT STaT B 2 TSN |
YT

(@) @ ARSI o TS ITANN hi F ST, |

T a9 & TAH qoF’ 1 F1 Y 7 ? EhI MWET H GERIAl B aTel foxi
®AT I THATRY |
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30.

31.

32.
33.
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When the accumulated data from various sources is processed in one

shot, it is called :

(a)  Real-time processing

(b)  Batch processing

(c) Data validation

(d)  Processing and Revalidation

The outcome of an arithmetic expression or function is called :

(a) Derived Value (b) Basic Value
(¢) Vertical Value (d) Horizontal Value
(1) The need of codification is for :

(a)  The generation of mnemonic codes.

(b)  To secure accounts, reports, etc.

(c) The encryption of data.

(d)  Easy to process data, keeping proper records.

OR

(ii))  Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very
small and adaptability is very high :

(a)  Specific
(b)  Tailored
(c) Specific and tailored both
(d)  Generic

Explain ‘COUNTIF’ function.

Explain the terms ‘Password Security’ and ‘Data Audit’.

(a) What is ‘data formatting’ ? What tools are used to format a given
data ? Explain.
OR

(b)  List eight uses of accounting software.

What is meant by ‘Present Value’ of an investment ? Explain the

financial function which helps in its calculation.
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STRICTLY CONFIDENTIAL: (FOR INTERNAL AND RESTRICTED USE ONLY)

SENIOR SCHOOL EXAMINATION 2023
MARKING SCHEME — ACCOUNTANCY (SUBJECT CODE—055)
(PAPER CODE—67/1/2)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of
the candidates, education system and teaching profession. To avoid mistakes, it is requested that before
starting evaluation, you must read and understand the spot evaluation guidelines carefully

“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of
candidates. Sharing this policy/document to anyone, publishing in any magazine and printing in
News Paper/Website etc may invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own expression
and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first
day, to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme.
If there is any variation, the same should be zero after deliberation and discussion. The remaining
answer books meant for evaluation shall be given only after ensuring that there is no significant
variation in the marking of individual evaluators

Evaluators will mark( V) wherever answer is correct. For wrong answer CROSS ‘X” be marked.
Evaluators will not put right (v')while evaluating which gives an impression that answer is correct and
no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This
may also be followed strictly

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.
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10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the answer deserves
it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines)

13 Ensure that you do not make the following common types of errors committed by the Examiner in the
past:-

Leaving answer or part thereof unassessed in an answer book.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and

clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as
cross (X) and awarded zero (0) marks

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each answer
as given in the Marking Scheme.



MARKING SCHEME
Senior School Certificate Examination -2023
ACCOUNTANCY (Subject Code-055)
[ Paper Code: 67/1/2 ]

Maximum Marks : 80

EXPECTED ANSWER / VALUE POINTS
Q PART—A
No (Accounting for Partnership Firms and Companies)
Read the following hypothetical situation and answer.................
1. | Q. The total profits of the firm................
Ans (b) Kavita 350,000, Savita ¥1,00,000, Madhu ¥30,000 1 mark
2. | Q. Savita’s share of profit................
Ans. (d)%10,000 1 mark
3. | Q. Akshita and Anurag are partners................
Ans (d) 4:2:3 1 mark
4. | Q. Zinki Limited forfeited.................
Ans (2)X 40 1 mark
5. | Q.°A’ and ‘B’ were partners in a firm................
Ans (c)
A’s Capital A/c Dr. 31,800
To Interest on drawings A/c 31,800 1 mark
6. | Q. (i) P, Q and R were partners ...........
Ans (d) Debiting Profit and Loss Suspense Account with 340,000 1 mark
OR OR
Q. (ii) Pooja, Nita and Anita................
Ans (b) 7:5 1 mark
7. | Q. Assertion (A) : Goodwill is ..............
Reason (R) : Goodwill is the value of ............... 1 mark
Ans (c) Both Assertion (A) and Reason (R) are correct
8. | Q. Which of the following will................
Ans (@) (i) and (iv) 1 mark




9. | Q. Gurpreet, Vishal,.................
Ans (b) %60,000 1 mark
10. | Q. (i) Akshita Ltd. issued..........ccceeueeene
Ans (a) Debited, Goodwill 1 mark
OR OR
Q. (i1) Maira Ltd. took over assets.......cc.oeeeereeens 1 mark
Ans (b) 10,000
11. | Q. (i) Rohit Limited issued ......c............
Ans (c) %2,00,000 1 mark
OR OR
Q. (ii) Which of the following.................
Ans (d) Debentures cannot be converted into shares 1 mark
12. | Q. That portion of the called-up...........
Ans (a) Paid-up capital 1 mark
13. | Q. (i) Hina and Neena........c..ccccceuuene.
Ans (a) ¥3,900 1 mark
OR OR
Q. (ii) Vibha and Asha are partners.................
Ans (b) 4 % months 1 mark
14. | Q. (i) A company forfeited 400 shares...............
Ans (c) %3,200 1 mark
OR OR
Q. (i) Xyle Ltd. forfeited 700 shares...................
Ans (d) ¥ 2,100 1 mark
15. | Q. Aman and Chaman are partners..............
Ans. (d)%27,000 1 mark
16. | Q. Aman, Aadhar and Avinash were partners...............
Ans (b)
To the debit side of the capital accounts of Aman, Aadhar and Avinash in old profit sharing | 1 mark
ratio.
17. | Q.Mansi, Mona................

Ans




Mansi (%) Amar ()
Capital after adjustments 2,50,000 2,00,000 1
New Capital 3,00,000 1,50,000
50,000 50,000
To be brought in To be withdrawn +
Books of Mansi, Mona and Amar
Journal
Date Particulars L.F Debit Credit
Amount Amount
Q) Q)
2022 | cash/Bank Alc Dr. 50,000
April 1 To Mansi’s Capital A/c 50,000 1
(Amount brought in by Mansi) +
. Amar’s Capital A/c Dr. 50,000
To Cash/Bank Alc 50,000 1
(Amount withdrawn by Amar) =
marks
18. | Q. Isha, Surbhi, Naman................
Ans
Sacrificed Share = Old share — New share
Isha
4/10 —5/10 = (1/10 ) Gain
Surbhi
3/10 — 2/10 = 1/10 Sacrifice
Naman
2/10 — 2/10 = No gain/ sacrifice
Manya 1
1/10 — 1/10 = No gain / sacrifice +




Books of Isha, Surbhi, Naman and Manya

Journal
Date Particulars L.F Debit Credit
Amount Amount
®) ®)
2022 | General Reserve Alc Dr. 2,00,000
APIL |\ T Isha’s Capital  Alc 80,000
To Surbhi’s Capital A/c 60,000
To Naman’s Capital A/c 40,000 1
To Manya’s Capital A/c 20,000 +
(General reserve distributed in old
ratio)
. Isha’s Capital A/c Dr. 60,000
To Surbhi’s Capital A/c 60,000
(Goodwill adjusted on change in 1
profit sharing ratio ) =
3
marks
19. | Q. (a) On 1%t April, 2022, the capital...........
Ans (a)
Normal Profit = 10/100 x 150,000 = 315,000
Average Profit =323,500
Super Profit = Average Profits — Normal Profit
= 23,500 - 15,000
= 38,500
Goodwill = Super Profits x Number of years’ purchase % _:IL_";/];"' e
= 8500x3 _
= T25500 v ;
marks
OR OR
Q. (b) Rakshit and Malik.............




Ans (b)

Calculation of Interest on Capital

Rakshit )
Interest on Capital from 1 April 2021 to 30 Nov. 2021
6/100 x 8/12x 1,20,000 = 4,800 11
Interest on Capital from 1 Dec. 2021 to 31 March 2022
6/100 x 4/12x 2,00,000 = 4,000
Interest on Capital 8,800 +
Malik )
Interest on Capital from 1 April 2021 to 30 Nov. 2021
6/100 x 8/12x 80,000 = 3,200 1%
Interest on Capital from 1 Dec. 2021 to 31 March 2022 -
6/100 x 4/12x 1,00,000 = 2,000 3
Interest on Capital 5,200 marks
(Note: Full credit to be given for workings shown correctly in any other manner)
20. | Q. (a) Annex Ltd. issued................
Ans (a) Books of Annex Ltd.
Journal
Date Particulars L.F Debit Credit
Amount | Amount
Q) Q)
Bank A/c Dr. 33,00,000
To Share application and allotment A/c 33,00,000 114
(Application money received on
3,00,000 shares) +
Share application and allotment A/c  Dr. 33,00,000
ToBank Alc 22,00,000 .
To Share Capital Alc 10,00,000 1%
To Securities Premium/ 1,00,000
Securities Premium Reserve A/c _
(Application money transferred to B
share capital account, securities 3
premium account and  excess marks
refunded)




Q. (b) Shovan Limited took over ............... OR
Ans (b) Books of Shovan Limited
Journal
Date Particulars L.F Debit Credit
Amount | Amount
) )
Sundry Assets  Alc Dr. 6,00,000 1%
To Sundry Liabilities Alc 10,00,000 +
To Swami Ltd. 45,00,000
To Capital Reserve Alc 5,00,000
(Purchased assets and took over liabilities
from Swami Ltd.)
Swami Ltd. Dr. 45,00,000
To 10% Debentures A/c 36,00,000 11 =
To Securities Premium/ Securities 9,00,000 3
Premium Reserve A/c K
(Issued 36,000 10% debentures to Swami Ltd marks
at premium of 25% )
21. | Q. Madhur Ltd. has an authorised.........
Ans
Madhur Ltd.
Balance Sheet (extract) as at .........
Particulars Note | Amount
No. ®
I. EQUITY AND LIABILITIES
1. Shareholders' funds
a) Share Capital 1 8,68,000 !
+
Note to Accounts
Particulars Amount
®)
1. Share Capital
Authorised Capital
2,00,000 equity shares of 10 each 20,00,000 1




Issued Capital +
90,000 equity shares of 10 each 9,00,000 1
+
Subscribed Capital
Subscribed and fully paid-up
84,000 equity shares of 10 each 8,40,000 Yo+
1
Add: Forfeited shares (4,000 x 7) 28,000 f
8,68,000 4
marks
22. | Q. Sudhir, Deepak and Naveen.............
Ans.
Dr. Sudhir’s Capital A/c Cr.
Particulars ® Particulars ®
To Advertisement suspense A/c 48,000 | By Balance b/d 1,60,000
To Sudhir’s Executors A/c | 349,800 | By General Reserve A/c 40,000
By Deepak’s Capital A/c 1,20,000 1% X 8
By Naveen’s Capital A/c 60,000 _
By Profit and Loss Suspense | 15,000
Alc
By Interest on Capital A/c 2,800 4
3,97,800 3,97,800 marks

Workings:

Sudhir’s share in Goodwill
=2/5x1,80,000 x 5/2
=%1,80,000

Sudhir’s share in profits till death

1,00,000 x 1,50,000 x 2

4,00,000 5
= 315,000
Interest on capital of Sudhir
1,60,000 x 7/100 x 3/12
=32,800

(Note: No marks to be deducted for not showing workings)




23.

Q. Aadish and Shreyansh.........

Ans.
Books of Aadish and Shreyansh
Dr. Realisation A/c Cr.
Particulars €4) Particulars €4)
To Sundry Assets: By Sundry Liabilities:
Stock 24,000 Creditors 90,000
Investment 30,000 Mrs. Aadish’s Loan 30,000
Debtors 20,000 Provision for Doubtful 2,000 | 1,22,000
Plant 1,00,000 | 1,74,000 | Debts
By Cash A/c / Bank Alc:
L ‘ Debtors 17,000
(Tl\(; rAailsgi Sh?"‘fltil)A/ ¢ | 30000 |Plant 1,10,000
5. Aadish s foa Investment 4,500 1,31,500
To Cash A/c/ Bank A/c:
Creditors 81,000 By Aadish’s Capital A/c
- 20,000
Realisation Expenses 7,000 | gg oo (Stock) )
By Shreyansh’s Capital A/c
(Investment) 13 500
By loss transferred to Partners’
Capital Alc:
Aadish 3,000
Shreyansh 2,000 5,000
2,92,000 2,92,000

Yo +1+
1+ % +
1+% +

1+ %

marks

24.

Q. (a) Pass necessary journal entries

(i) BCG Limited forfeited........
(ii) Geetika Limited forfeited....

Ans. (a)

10




(i)

Books of BCG Limited

Journal
Date Particulars L.F Debit Credit
Amount | Amount
(X) (X)
Share Capital Alc Dr. 450
Securities Premium/ Securities Premium
Reserve Alc Dr. 300
To Forfeited Shares A/c 150
To Share Allotment/Calls in Arrears Alc 600
(75 shares forfeited for non-payment of allotment)
Bank Alc Dr. 1,125
To Share Capital Alc 750
To Securities Premium/Securities Premium 375
Reserve Alc
(75 shares re-issued at I15 per share, fully paid up)
Forfeited Shares A/c Dr. 150
To Capital Reserve Alc 150
(Gain on 75 re-issued shares transferred to capital
reserve)
(i) Books of Geetika Limited
Journal
Date Particulars L.F Debit Credit
Amount | Amount
(X) (X)
Share Capital Alc Dr. 60,000
To Forfeited Shares A/c 48,000
To Share Final Call / Calls in Arrears Alc 12,000
(1,200 shares forfeited for non-payment of final call)
Bank Alc Dr. 40,500
Forfeited shares A/c Dr. 4,500
To Share Capital Alc 45,000
(900 shares re-issued at 45 per share, fully paid up)
Forfeited Shares A/c Dr. 31,500
To Capital Reserve Alc 31,500

(Gain on 900 re-issued shares transferred to capital
reserve)

OR

Q. (b) Pushkar Limited invited..........

[EEN

[EEN

w |

marks

[EEN

+

w ||

marks

(3+3)

marks
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Ans. (b) Books of Pushkar Limited
: Journal
Date Particulars L.F Debit Credit
Amount | Amount
(X) (X)
Bank A/c Dr. 16,00,000
To Share Application A/c 16,00,000
(Application money received on 40,000 shares)
Share Application Alc Dr. 16,00,000
To Share Capital Alc 9,00,000
To Securities Premium/Securities Premium 3,00,000
Reserve Alc
To Share Allotment A/c 2,00,000
To Bank Alc 2,00,000
(Transfer of application money on 30,000 shares to
Share Capital account, on 5,000 shares to Allotment
account, and of 5,000 shares refunded)
Share Allotment A/c Dr. 9,00,000
To Share Capital  Alc 6,00,000
To Securities Premium/Securities Premium 3,00,000
Reserve Alc
(Money due on allotment on 30,000 debentures)
Bank Alc Dr. 6,86,000
Callsin Arrears  Alc Dr. 14,000
To Share Allotment A/c
(Money received on share allotment) 7,00,000
OR
Bank Alc Dr. 6,86,000
To Share Allotment A/c 6,86,000
(Money received on share allotment)
Share Capital Alc Dr. 30,000
Securities Premium/Securities Premium Reserve A/c Dr. 6,000
To Forfeited Shares Alc 22,000
To Calls in Arrears A/c/ Share Allotment A/c 14,000
(Forfeiture of 600 shares for non-payment of
allotment money)
Share First Call Alc Dr. 8,82,000
To Share Capital  Alc 8,82,000
(First call amount due on 29,400 shares)
Bank Alc Dr.
To Share First Call Alc 882,000
8,82,000

(Money received on first call)

OR

Yo

-

Yo

marks
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25.

Q. (2) Yuv and Veer were partners ..............

Ans. (a)
Dr. Revaluation A/c Cr.
Particulars ® Particulars ®
To Plant & Machinery Alc 6,000 By Investment A/c Y 8,000
To Profit transferred to
partners’ capital A/cs :
Yuv 1,500
Veer 500 2,000
8,000 8,000
Dr. Partners’ Capital A/cs Cr.
Particulars Yuv Veer | Yash Particulars Yuv Veer | Yash
® | | ® ® | | ®
To Balance c/d | 1,43,500 | 69,500 | 71,000 | By Balance b/d | 79,000 | 48,000
i
By General
Reserve A/c 60,000 | 20,000
1/2
By Premium
for goodwill 3,000 | 1,000
Alc
By Revaluation 1500 500
Alc
By Cash Alc / 71,000
Bank Alc
1,43,500 | 69,500 | 71,000 1,43,500 | 69,500 | 71,000
Workings:
Adjusted capital of partners 3
Yuv 143500
Veer 69500
Total 2,13,000

Capital of the new firm 213000 x 4/3= <2,84,000
Capital brought in by Yash = 2,84,000 x1/4 = ¥71,000
(Note: No marks to be deducted for not showing workings)

marks

OR
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OR

Q. (b) Reyansh, Aayushman and Sabhya .............
Ans. (b)
Books of Reyansh, Aayushman and Sabhya
Journal
Date Particulars L.F Debit Credit
Amount | Amount
(X) (X)
2022 | Aayushman’s Capital A/c Dr. 1,20,000
March31 | Sabhya’s Capital A/c Dr. 4,80,000
To Reyansh’s Capital A/c 6,00,000
(Adjustment for goodwill in gaining ratio without
opening goodwill account)
Y General Reserve Alc Dr. 1,20,000
To Reyansh’s Capital  A/c 60,000
To Aayushman’s Capital A/c 36,000
To Sabhya’s Capital Alc 24,000
(General reserve distributed among partners)
Reyansh’s Capital ~ A/c Dr. 50,000
Aayushman’s Capital A/c Dr. 30,000
Sabhya’s Capital  Alc Dr. 20,000
To Profit and Loss A/c 1,00,000
(Accumulated losses shared by partners in old ratio)
Y Revaluation A/c Dr. 40,000
To Sundry Creditors Alc 40,000
(Unrecorded creditors taken into account)
Y Bad debts A/c Dr. 30,000
To Debtors Alc 30,000
(30,000 written off as bad debts)
Y Provision for doubtful debts A/c Dr. 20,000
Revaluation  Alc Dr. 10,000
To Bad debts A/c 30,000
(Bad debts transferred to provision for doubtful debts
and revaluation account)
" Reyansh’s Capital  A/c Dr. 25,000
Aayushman’s Capital A/c Dr. 15,000
Sabhya’s Capital  A/c Dr. 10,000
To Revaluation A/c 50,000

Yo

Yo

Yo
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(Loss on revaluation transferred to partners’ capital
accounts in old ratio)

Y Reyansh’s Capital A/c Dr.
To Reyansh’s Loan A/c

(Amount due to Reyansh transferred to his loan

account)

11,85,000

11,85,000

Workings:
Calculation of gaining ratio

Share gained = New share — Old Share
Sabhya
3/5-2/10

=4/10

Aayushman
2/5—3/10
=1/10
Gaining ratio is 1:4
Amount to be transferred to Reyansh’s loan account
6,00,000+6,00,000+60,000 — 50,000 — 25,000
=<11,85,000

(Note: No marks to be deducted for not showing workings)

marks

26.

Q. Pass necessary journal entries ....................

Ans. Books of Akash Ltd.

Journal

Date Particulars

Debit

Amount

®)

L.F

Credit

Amount

®)

(a)
Bank Alc Dr.
To Debenture Application and Allotment A/c

(Debenture application money received 1,000 9%
debentures)

Debenture Application and Allotment A/c Dr.
Loss on issue of debentures A/c Dr.

To 9% Debentures Alc

To Premium on redemption of Debentures Alc
(Debenture application money transferred to
debentures A/c)

OR

Debenture Application and Allotment A/c Dr.
Discount on issue of debentures A/c Dr.
Loss on issue of debentures A/c Dr.

95,000

95,000
15,000

95,000
5,000

10,000

95,000

1,00,000
10,000
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To 9% Debentures A/c 1,00,000
To Premium on redemption of Debentures Alc 10,000
(Debenture application money transferred to
debentures A/c)
(b)
2
Bank Alc Dr. 52,500 52 500
To Debenture Application and Allotment A/c ’
(Debenture application money received on 500 7%
debentures)
Debenture Application and Allotment A/c Dr. 52,500
Loss on issue of Debentures Alc Dr. 5,000
To 7% Debentures A/c 50,000
To Securities premium/Securities premium reserve A/c 2,500
To Premium on redemption of Debentures A/c 5,000
(Debenture application money transferred to
debentures A/c and securities premium A/c)
(c)
Bank A/c Dr. 1,90,000
To Debenture Application and Allotment A/c 1,90,000
(Debenture application money received on 2,000
10% debentures)
Debenture Application and Allotment A/c Dr. 1,90,000
Discount/ loss on issue of Debentures A/c Dr. 10,000
To 10% Debentures Alc 2,00,000
(Debenture application money transferred to 1x6
debentures A/c) _
6
marks
PART B
OPTION-I
(Analysis of Financial Statements)
27. | Q. Which of the following...........
Ans(c) (i) and (iii) Imark
28. | Q. (i) ‘Dividend paid’............
Ans (c) Financing Activity 1 mark
OR OR
Q. (ii) ‘Interest received on investments’...........
Ans (a) Investing Activity 1mark
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29. | Q. (i) Which of the following equations.........
Ans (d) Cost of Revenue from Operations = Revenue from Operations — Gross Profit 1 mark
OR OR
Q. (ii)) Which of the following is a tool ...........
Ans (a) (i) 1mark
30. | Q. From the following information,...........
Ans (d) %15,00,000 1mark
31. | Q. Classify the following........
Ans.
Items Major head Sub-head
(a) Unclaimed Dividend Current Liabilities Other Current Liabilities
(b) Mining Rights Non-Current Assets | Fixed Assets- Intangible
Assets
Alternatively,
Property, Plant & Y2 X6
Equipment and Intangible
Assets
(c) Loose Tools Current Assets Inventories a
Note: Full credit to be given for writing only Intangible Assets or Fixed Assets under Sub- 3
head of part (b). marks
32. | Q. ‘These ratios are calculated ................
Ans. Liquidity ratios / Current ratio and Quick ratio
+
Significance of Current ratio:
It provides a measure of degree to which current assets cover current liabilities. The excess of
current assets over current liabilities provides a measure of safety margin available against 1
uncertainty in realization of current assets and flow of funds.
+
Significance of Quick ratio:
It is a measure of the capacity of the business to meet its short-term obligations without any
flaw. =
3
marks
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33.

Q. (i) Calculate Gross Profit Ratio.........

Ans. (i)
Gross Profit ratio = Gross Profit x 100

Revenue from Operations

RN

Inventory turnover ratio = Cost of Revenue from Operations

Average Inventory

Cost of Revenue from Operations = 6 x 4,00,000
=%24,00,000

Gross Profit : 25% of Cost= 25/100 x 24,00,000

= 36,00,000
Gross Profit Ratio  =__ 6,00,000  x 100
30,00,000
= 20% ]
OR

Q. (ii) The Current Ratio..............

AnS.

(@) Current Ratio would reduce.
Reason: Current assets as well as Current Liabilities would increase by the same
amount.

(b) Current Ratio would improve.
Reason: Current assets would increase, while current liabilities remain the same.

(c) Current Ratio would not change.
Reason: Both Current assets and Current liabilities remain the same.

(d) Current Ratio would improve.
Reason: Current assets would increase whereas there would be no change in Current
Liabilities.

Ya +
1+1+1
+ 1=

marks

OR

Ya
mark
for
effect
and %
mark
for
reason

marks

34.

Q. Read the following hypothetical text and ......




Ans.

Calculation of ‘Cash Flows from operating activities’

for the year ended 31st March, 2022

Particulars Details Amount
Q) ®)
Net profit before tax and extraordinary items (2,11,000)
Add : Non-cash and Non-operating expenses : 2
Depreciation on machinery 75,000
Interest on Debentures 24,000 99,000
Net profit before changes in working capital (1,12,000)
Add : Decrease in Current Assets and Y2
Increase in Current Liabilities :
Decrease in Inventories 33,000
Less : Increase in Current Assets and
Decrease in Current Liabilities:
Trade Payables (42,000)
(9,000)
Cash generated from operations (1,21,000)
Wz
Less : Tax paid (80,000)
Y2
Net cash outflow/used in operating activities (2,01,000)

Yo

Dr. Provision for Tax A/c Cr.
Particulars ® Particulars ®
To Bank Alc 80,000 | By Balance b/d 2,10,000
To Balance c/d 2,04,000 | By Statement of Profit & 74,000
Loss
2,84,000 2,84,000
Working Notes :
Calculation of net profit before tax :
®)
Net Profit (2,85,000)

Yo
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Add provision for Tax 74,000
(2,11,000) 7
6
(Note: Full credit to be given if the examinee has taken interest on debentures as marks
¥ 18,000 and consequently, net cash outflow/used in operating activities has been
calculated as ¥2,07,000)
PART B
OPTION-II
(Computerised Accounting)
27. | Q. (i) The name of accounting.............
Ans. (c) Costing sub-system 1 mark
OR OR
Q. (ii) The process of comparing..............
Ans. (a) Data validation 1 mark
28. | Q. When the accumulated data...............
1 mark
Ans. (b) Batch processing
29. | Q. The outcome of an arithmetic............
Ans. (a) Derived Value 1 mark
30. | Q. (i) The need of codification.............
Ans. (c) The encryption of data. 1 mark
OR OR
Q. (ii) Which of the following...................
Ans. (d) Generic 1 mark

31.

Q. Explain ‘COUNTIF’ function.

AnS.

e This function counts the number of cells within a range that meet the given criteria in
this function.
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e Range is one or more cells to count, including number or names, arrays or references
that contain numbers. The blank cells and text values are ignored.

3
e Criteria are the form of a number, expression cell reference, or text that defines which | 5rks
cells will be counted.
32. | Q. Explain the terms ‘Password............
Ans. Password Security: It is widely accepted security control to access the data. Only
the authorised person can access the data. Any user who does not know the password 1% x2
cannot retrieve information from the system. It ensures data integrity. It uses a binary
encoding format of storage and offers access to the database. =
Data Audit: Audit feature of accounting software provides the user with administrator right
in order to keep track of unauthorised access to the database. It audits for the correctness of
entries. Once entries are audited with alternations, if any, the software displays all entries along
with the name of the auditor user and date and time of alternation. 3
marks
33. | Q. (a) What is ‘data formatting’.................
Ans. (a) The use of following formatting tools to make the reading spreadsheet
understandable is known as Data Formatting. 1
+
Following tools with appropriate explanation : 1+
. Number formatting 1+
. Currency Lyt
. Percentage
Ya
. Dates
OR 4
C marks
Q. (b) List eight uses...............
OR
Ans. Following are the eight uses of accounting software: (Any eight)
(1) Do all the basic accounting functions
2 Manage stores
(3) Do the job costing
4 Manage payroll
(5)  Get MIS reports Y%2x8

(6) Fill tax returns, prepare balance sheet and profit and loss statement, VAT
form, TDS returns etc.

(7) Manage, maintain budget scenario.
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(8)

Manage data over different locations and synchronize it.

9) Calculate interest on pending amount. 4
marks
34. | Q. What is meant by........ccccevvveennen
Ans. Present value is the total amount that a series of future payments is worth now.
The financial function which helps in its calculation is known as PV.
Its syntax is
PV (rate, nper, pmt, fv, type)
Where
Rate : Interest rate per period.
Nper : Total number of payment periods in an annuity.
Pmt : The payment made each period and connot be changed over the life of
annuity : Typically pmt includes principal and interest but no other fees and
taxes.
FV:  The future value, or a cash balance to attain after the last payment is
made.
Type: is the number O or 1 and indicates when payments are due. The fv and type
arguments are optional.
6
marks
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